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6,300
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12,599

6,299
6,300

11,720
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Al 346,053
OtS =X A0S X & 121,685 121,685 0
= 36,505
Al 85, 180
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= 36,505
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121,685,002 121,685
= 36,505
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OIE=TANLEANREL224 S 54,000 50,400 3,600
= 16,200
Al 37,800
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Al 37,800
02 BI2FAEE 54,000 50,400 3,600
OOSZNAE BAX S4+224¢
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Al 37,800
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201 Y2 y| 6,760 7,720 960
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_5_




A AR =X
g ots=sAsd
&Rl Ots=X e (98

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

OAlZ0ts 0ol

e

FRAEDE X
2,000,000& 2,000

OAlE0ts M=tz SOt 2,000,000& 2,000

ton

NASEOS stsk

ol

ol 10,800 10,800 0

3,240
7,560

Ol
o
40

= H

307 2120l & 10,800 10,800 0
3,240
7,560

= H

10,800 10,800 0
10,800,000& 10,800

3,240
7,560

Q
OS]
e
e
0x
oo
HT
B

0
2
b

Ol
=
o
I
o
H
10
(=]

=

b

=}
O
M

N

J

| gt

o

Of

150,000 50,000 100,000

Jn
w

ol

o

l= 0l

m

HE = 150,000 50,000 100,000

401 Al&HI YL SO 150,000 50,000 100,000

01 A&l 150,000 50,000 100,000
O=80e0l=0t M2+ 150,000,000 150,000

Zoiel =X

Ol

& 4,754,477 3,841,646 912,831
,934,946
280,593
889,079
1,649,859

—_

= HHD W

Fojol=x 20X 2,792,040 1,980, 126 811,914
,934,946
422,514
434,580

—

= HnH

==X = 837,577 1,214,286 A376,709
586,304
125,637
125,636

= H W
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OB OHQIERIRXIME 20X
104,310,0002 104,310
= 52,155
= 26,077
Al 26,078
ZONOLS MEXE BIRH At 183,334 50,400 132,934
= 128,334




FA:
e sXsd
=l

X ZH
S =

At = X ot

=X =0X

SNBSS - MEAY - BES

[
2

20
B
2

=

27,500
27,500

307 2120l &

= H W

183,334
128,334
27,500
27,500

50,400

132,934

02

=
2
o
0z
>

0N H
o

O
04
2
=}

=

g <X

183,334,000&

= N W

183,334

183,334
128,334
27,500
27,500

50,400

132,934

AHEERXNE BIRHAL

= Hn W

840
588
126
126

840

307 2120l A

= HnH

840
588
126
126

840

02 elzt

B X AHY

840,000

= HnH

840

840
588
126
126

840

=z HnH

946,

662,
141,

126

288
919

141,919

946,126

= H W

946, 126
662,288
141,919
141,919

946, 126

946,126,000&

= N W

946, 126
946,126

662,288
141,919
141,919

946, 126

= H A

, 785,427

230,593
422,689

,132,145

1,672,228

113,199

=z H

172,800

51,840
120,960

172,800

= H

172,800

51,840
120,960

172,800




SN AEST D
M F0He 2XSH
Sl FOHQIZR LEHKI (25 &2

2N -3 (AH) - HIRAIY - BHE

11
M
o

Ofl &4

r
0.
=1
(R
121
==
El
i
oy

01 A2 H 6= 172,800 172,800 0
Okl HoH+=& 172,800,000 172,800

51,840
120,960

= H

MAas ZoHe 2=Hl X& 25,615 25,615 0

7,685
17,930

= H

301 et ez 25,615 25,615 0

7,685
17,930

=

263 25,615 25,615 0
ONASHO2 2=Hl X2 25,615,000& 25,615

7,685
17,930

= H

O =EX22E 814,965 726,267 88,698
187,578
162,993
464,394

= H A

307 2120l & 814,965 726,267 88,698
187,578
162,993
464,394

= M A

EN 814,965 726,267 88,698
A 2 814,965,000& 814,965

187,578
162,993
464,394

= H AL

MNASHAFTIHEZ A ALY 19,000 19,000 0
5,700
13,300

= H

301 Let2a= 19,000 19,000 0

5,700
13,300

= H

P E 19,000 19,000 0

19,000, 000& 19,000

5,700
13,300

=

NASHHURRUNEES 16,707 16,800 A93

5,012
11,695

=z H

307 QI12told 16,707 0 16,707
5,012
11,695

= H

02 2I2tda2x 16,707 0 16,707
O SXN=2 E5 16,707,000& 16,707




SN AEST D
M F0He 2XSH
Sl FOHQIZR LEHKI (25 &2

L RE-E

- SHRI(BIAH) - NRALS -

o

e

[
2

=1
B
121

=

5,012
11,695

0
==
o
xul
S
HT
fol
=
x
Ho

= H1 AL

93,660

8,930
28,098
56,632

87,533

6,127

307 2120l &

= H A

93,660

8,930
28,098
56,632

87,533

6,127

93,660,000

H0

= H A

93,660

93,660

8,930
28,098
56,632

87,533

6,127

= H A

70,900
12,486
21,270
37,144

66,267

4,633

307 2120l &

= M A

70,900
12,486
21,270
37,144

66,267

4,633

02 YIS EX

70,900,000&

= H AL

70,900

70,900
12,486
21,270
37,144

66,267

4,633

= H1 AL

97,460
21,599
29,238
46,623

91,077

6,383

307 2120l &

= H A

97,460
21,599
29,238
46,623

91,077

6,383

02 ol2tHAF

97,460,000&

= H A

97,460

97,460
21,599
29,238
46,623

91,077

6,383

= M

51,000

15,300
35,700

59,400

A8,400

307 2120l &

= M

51,000

15,300
35,700

59,400

28,400

_11_




SH: AEI= XD
Hal: Zojol =2XNSH
Sl MOHOISR LUK (e @8

SA-EFH - SA(SAH) - MREAY - BES o

[
2
2
R
12
o
£l
0l%
IS

02 Qlta3aEx 51,000 59,400 A8,400
A2l THEAE SAHA=E K&
51,000,000& 51,000

15,300
35,700

O
03
o
>
12

=

ZUHASEXANES2LXHA(7E) 25,274 10,000 15,274

7,582
17,692

=z H

307 2120l & 25,274 10,000 15,274

7,582
17,692

= H

E 25,274 10,000 15,274
ANAE 22(78) 25,274,000& 25,274

7,582
17,692

02 2iztH 4
ol
ol

=z H

HOHEESUEX A 1,500 1,500 0
450
1,050

= M

307 2120l & 1,500 1,500 0
450
1,050

= H

02 BIAAMEX 1,500 1,500 0
O&oe 22stu=s K& 1,500,000& 1,500
450
1,050

= H

ZOHA NS HHE2S 12,000 12,000 0
3,600
8,400

= M

307 2120l & 12,000 12,000 0

3,600
8,400

= H

02 2ItAAE X 12,000 12,000 0

ozl ANFHIE 2 12,000,000& 12,000
3,600
8,400

=z H

NASEOH It E S X 82,500 82,500 0
24,750
57,750

=

301 Let2a= 82,500 82,500 0

24,750
57,750

=

2¥&=6=2 82,500 82,500 0
OMAS Zojeots st K&
82,500, 000& 82,500

24,750
57,750

=




SA: ARSI XD
Ha: Fojel =2XEA

Sl MOHOISR LUK (e @8
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
EST0I0E 2LEXEY 29,000 27,000 2,000
307 212+0IH 29,000 27,000 2,000
02 DIIAMNBE 29,000 27,000 2,000
OSSZNHS 9Ist 2 SBX 29
29,000,0002 29,000
DOHQIMBAIL 29 47,910 73,130 125,220
201 Yer2g| 750 1,500 AT50
01 AtR2elt] 750 1,500 AT50
OBOHQAXIS R EX| 1,5002 *5000H 750
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OSIZLBOIZIAX WEXI2Hl 3,000,008 3,000
02 QIHHARE 16,460 18,960 A2,500
OXNMHMQAES AR S XA 6,500,0002 6,500
OB HLME 2 Y 9,960, 0002 9,960
401 AEHILS ] 20,000 30,000 ~10,000
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OOHQ JISZIINE &K
100, 00021 ¥2 x22 400
osx@ole & &} 10,0002 %5023 1] 500
OAIIE Zojel BSAEA FHAX S
20,0002 %502 * 1] 1,000
307 2120l H 24,000 24,000 0
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= 160,467
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Al 40,117
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02 SI2tBAE X 9,000 9,000 0
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-2 =l 200,000 «12& 2,400
SHLQ JtdlolA HENHE 7,000
=Jtulol& 6,000& «200 1,200
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= 39,343
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= 314,744
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= 1,098,514
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Al 1,008,514
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= 1,490
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301 LB B A 877,200 0 877,200
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Al 482,460
NIEEEERTE 877,200 0 877,200
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Al 71,593
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OFSXASA MLHEH  102,276,0002 102,276
= 30,683
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BOjOt OIS £ 2 R4 62,400 71,400 9,000
= 18,720
Al 43,680
301 LHBAI 62,400 0 62,400
= 18,720
Al 43,680
01 ASIBEE 253 62,400 0 62,400
ZONOH ZOH DAL S22+
62,400, 0002 62,400
= 18,720
Al 43,680
AN TS B S ALK 2 19,200 19,200 0
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Al 13,440
307 Q1201 19,200 19,200 0
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VETEPEES 19,200 19,200 0
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301 YerBAZ 222,000 253,500 A31,500
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Al 115,185
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Il 4,200
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A =20X2 (98

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

900
900

=

01 A2 =H| 6,000 7,940 A 1,940

6,000, 000& 6,000
4,200
900
900

=X

HEANESAL Exu=s 920 1,176 N 256
460

230
230

= HnH

307 2120l & 920 1,176 N 256
460
230
230

= HH

02 QIFAE X 920 1,176 A 256
HEAKL W= 920,000& 920

460
230

230

= H W

HEd=8dga 29 59,606 59,216 390
29,803
14,902
14,901

= H W

307 GI12t0lH 59,606 59,216 390
29,803
14,902
14,901

= NN

02 2ItAAE X 59,606 59,216 390
ONs d=54d8a 23 59,606, 000& 59,606
29,803

14,902
14,901

= MW

S OHOH Lot MtEXME 2SS 352,900 333,820 19,080
247,030
52,935
52,935

= HnH

307 2120l & 352,900 333,820 19,080
247,030
52,935
52,935

= HnH

02 2I2tFaEx 352,900 333,820 19,080
OXDHOHIIoH Xt KHEXHME=2E X
352,900,000& 352,900

247,030
52,935
52,935

o

=M
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X XH -
S =

‘:IO
==
Sl Hlg=X 2D (e

rz
J2

20
B
2

=N X

22,143
15,500
3,322
3,321

18,204

307 GI12t0ld

=X

22,143
15,500
3,322
3,321

18,204

3,939

Lokt Xze=222 08 23

22,143,000

= H X

22,143

22,143
15,500
3,322
3,321

18,204

3,939

44 OH OH Il o X+ X+&¢ X

= H W

36,000
18,000
9,000
9,000

36,000

307 G12t0lH

= N W

36,000
18,000
9,000
9,000

36,000

OHEOHONIIGH A XIRAAE JIs22

36,000,000

= H W

36,000

36,000
18,000
9,000
9,000

36,000

= H W

164,000
82,000
41,000
41,000

164,500

A500

307 GI12told

= N W

164,000
82,000
41,000
41,000

164,500

A500

02 DIAAASEE

164,000,000

= MW

164,000

164,000
82,000
41,000
41,000

164,500

A500

OlOI E 20| Xl & A

= HnH

162,560
113,792
24,384
24,384

63,500

99,060

307 2120l &

o

162,560

113,792
24,384

63,500

99,060
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24,384

02

162,560,000&

= MW

162,560
162,560

113,792
24,384
24,384

63,500

99,060

= HnH

50,000
35,000
7,500
7,500

50,000

307

= HnH

50,000
35,000
7,500
7,500

50,000

02

e
2

Ho OX

O
[wl

0z
HT
kA

tol

J

It

|

[0

(i}

S|

50,000, 000&

= H W

50,000

50,000
35,000
7,500
7,500

50,000

Ho

0

= H W

121,830
85,281
18,275
18,274

41,699

80,131

307

= N W

121,830
85,281
18,275
18,274

41,699

80, 131

02

Jo

121,830,000

= NN

121,830
121,830

85,281
18,275
18,274

41,699

80, 131

= H

71,626

10,675
60,951

54,705

16,921

=

10,000

1,000
9,000

10,000

307

=

10,000

1,000
9,000

10,000

02

GRSy
0

10,000,000&

= H

10,000

10,000

1,000
9,000

10,000

3,000

3,000
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|

2 28 o ON=NS
Sl OfNEX LHR (25 &2
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il i~ o B2
307 QI2H0IH 3,000 3,000 0
IETEPNEES 3,000 3,000 0
ONZ T2 SEYSBI 1S
50,0002 +60% 18] 3,000
OlEHAIRY L 2 30,380 30,800 A420
201 Yer2 Y| 5,580 6,000 A420
01 A2l 5,580 6,000 £420
O0SEDE LA+ (RZHLSISHLDS)
500,0002 +23l 1,000
OSSHA Ol84 MRS 500,008 +3% 1,500
OCIH 2R 2R3, AASY
70,0002 43 112 3,080
202 04t 2,000 2,000 0
01 2Uioibl 2,000 2,000 0
OCEEX ¥ OGE2sIE Ye=a
2,000,000 2,000
301 LHBAS 2,800 2,800 0
10 SBAAEI 243 2,800 2,800 0
OOM=S 2 15,50 ML 2424
7,000 208 x203] 2,800
307 QI2H0IH 20,000 20,000 0
VR EES 1,000 1,000 0
O0lH UESAX HSX & 1,000,0002! 1,000
04 BIRHE AT 19,000 19,000 0
ORHASY STots 2R EEA
80,0002 *53l 4,000
OCEEAHA2S Y 15,000, 0002! 15,000
220/0K SR0{DS 3,733 8,005 5,728
= 4,120
Al 9,613
307 QI2H0IH 3,733 8,005 5,728
= 4,120
Al 9,613
02 PIRNBAEE 13,733 8,005 5,728
OZE0/0IX 820 DS 13,733,0002! 13,733
= 4,120
Al 9,613
OIS Sotn2 A MHIA X 6,006 4,800 1,206
= 3,003
Al 3,003
308 XHXISHH SO & 6,006 0 6,006
= 3,003
Al 3,003
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HE: 28 U 4=NEH
SRl OIA=X LBHX S (el &2
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
06 DEIIBOILHEZEZ 6.006 0 6,006
OSstnZ A MHIA X 6,006,000%! 6,006
= 3,003
Al 3,003
SOUHTIGHR XN® A& 2 6.600 6.600 0
< 1,980
Al 4,620
307 BI2HOIF 6.600 6.600 0
= 1,980
Al 4,620
VEIEPNES 6.600 6,600 0
OSMOHLIGHA XI¥AIE 2% 6,600,008 6,600
= 1,980
Al 4,620
2E0I0K LEHFHYX 1,907 0 1,907
< 572
Al 1,33
307 BI2HOIF 1,907 0 1,907
= 572
Al 1,33
02 SItYABE 1,907 0 1,907
OZE0/8IN ¥EHHAXS 1,907,0002 1,907
& 572
Al 1,33
HAUES U S5 395,562 378,877 16,685
z 7,000
| 6.000
= 28,036
Al 354,526
PREEL AP 234,690 208,377 26,313
| 4,500
= 10,500
7 Al 219,690
HaE SIS AL 17,500 17,500 0
& 5,250
Al 12,250
307 BI2HOIF 17,500 17,500 0
< 5,250
Al 12,250
04 DIFEALE X 7,500 7,500 0
OHAUSBHUSH K& 17,500, 0002 17,500
= 5,250
Al 12,250
D4R Mot 25 10,000 10,000 0
= 3,000
Al 7,000
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M HAUSS US4
©Hel HAESS Y A E (crel @
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K '@,‘;OH Hlw &2
307 ©I2r0I M 10,000 10,000 0
= 3,000
Al 7,000
04 BIRbEALE & 10,000 10,000 0
OFMHAED BN S3HHIE
10,000,00084 10,000
3 3,000
Al 7,000
HAESE SR 2 198, 190 170,877 27,313
201 Yer29y| 11,590 4,000 7,590
01 AtR22IH| 8,590 4,000 4,500
OMBISNBAIZE S22 L A4l ME 3,300
~AFHOIA L EX 1,000,000 1,000
~HENOIA MR 30,0002 *507H 1,500
-222 U NAMR(HLY, 50t S)
800,000 800
OdEolY =519IE 23,0002 +1,000% 3,000
OSSFHEAl SCMAEY 5|4y
70,0008 +7% 490
OFCMAEN MAIME 150,000 120 1,800
02 BB 3,000 0 3,000
OBEXNZ RN 3,000,000 3,000
202 01t 2,000 0 2,000
01 2U0tH| 2,000 0 2,000
OHAHSA S X2 1,000,000 1,000
OAMBISTZE #A S N 1,000,000 1,000
203 YR FEAY| 10,000 0 10,000
03 AIEXYDFAY| 10,000 0 10,000
OABIS XD AR ERY 10,000,00084 10,000
301 LEHE AR 21,600 21,600 0
10 BAFAHI2 &S 21,600 21,600 0
OFAH25HE At (1241)
9,000% +200% * 1204 21,600
307 ©12+0I M 153,000 145,277 7,723
04 SIREBALE 153,000 145,277 7,723
OF-PNELESENS]- 80,000,0002 80,000
OF-PSEEP IS Y 40,000,000 40,000
OFHAH 23S SH(EHAY)
33,000,0002 33,000
YAE s012 2SX 9,000 10,000 A 1,000
p 4,500
< 2,250
Al 2,250
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2

20
B
2

307

=X

9,000
4,500
2,250
2,250

10,000

02

SKA& 9,000,000&

9,000
9,000

4,500
2,250
2,250

10,000

A 1,000

160,872
7,000
1,500

17,536

134,836

170,500

29,628

0z
N
i

0H

o
(0]

H0
Jm

o

= 0

14,000

7,000
7,000

14,000

307

O

14,000

7,000
7,000

14,000

02

L=
LU-
0X
0>

r

O
]
k-
i

4T A

b HI

g X2 (&2) 14,000,000

14,000

14,000

7,000
7,000

14,000

0
b
m
08
11
i
M0

o

= M

30,000

9,000
21,000

30,000

201

= M

6,600

1,980
4,620

8,000

21,400

01

XA (Kol SH)

6,600,000&

=

6,600

6,600

1,980
4,620

8,000

A 1,400

301

= H

8,400

2,520
5,880

7,000

1,400

XA (Xl SH)

8,400,000&

=

8,400

8,400

2,520
5,880

7,000

1,400

307

=z H

15,000

4,500
10,500

15,000
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M FAUES ¥ |4
¢ FA8XNE € B3 CEEED
i, _ _ pSIEN=
SAN-ZH-SA(FA) - NFAY - BES O AF K 'Oﬂ/'\_ﬁ;ﬁ Hlw &2
02 YIS EX 15,000 15,000 0
OBAUIZRYRIXNA(HH1S)
15,000,000 15,000
< 4,500
Al 10,500
NASE E4E U 16,000 16,000 0
[ 1,600
Al 14,400
301 LB A SF 16,000 0 16,000
< 1,600
Al 14,400
12 JIEIE A3 16,000 0 16,000
OMASE 449 SUEXNE 16,000,000 16,000
< 1,600
Al 14,400
ANZELEXN LY 23 85,000 75,000 10,000
[ 6,250
Al 78,750
307 @Iztol A 85,000 75,000 10,000
[ 6,250
Al 78,750
02 QIZtEAEX 85,000 75,000 10,000
OFAENEHHZY 85,000,000 85,000
< 6,250
Al 78,750
HAE RoEd X< 11,500 12,500 A 1,000
201 LEH2HH| 3,500 3,500 0
01 AtR2teld] 1,100 1,100 0
OFAHRNEZHS & ESAMY 88
500,000& 500
OFAHES Y22 50,000 «12& 600
02 2323l 2,400 2,400 0
Oxtele AHel MIIMER
200,000& 1 A+ 12& 2,400
301 et ez 5,000 3,500 1,500
10 HAIAHIZAZ 3,000 3,000 0
O AE & R s seas 24
30,000 *20H x5 3,000
12 JIet243 2,000 500 1,500
OFadRofatdel Za=s 500,000& 500
ORdigZd2 A &=l 5,000&+30E *10& 1,500
401 Al&HIL2CHY| 3,000 3,000 0
01 Al&HI 3,000 3,000 0
OFAHARN mX22 3,000, 000& 3,000
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Y HAEES U =24
CHell HAUNG U 23 (el @R
_ _ _ Muo
SA-E . S(E) - MEAY - BES 01l &4 24 e {imE=Eh
Al XM 2 s 28X 3,000 3,000 0
Il 1,500
Al 1,500
307 2120l & 3,000 3,000 0
Il 1,500
Al 1,500
02 2ItAAE X 3,000 3,000 0
O XMt E2 28 X 3,000,000& 3,000
Il 1,500
Al 1,500
CHRSMHEALAENCAR) XA 1,372 0 1,372
< 686
Al 686
301 Lpt8aag 1,372 0 1,372
= 686
Al 686
02 Hst=dstit= 1,372 0 1,372
OZERBN(HAENCHR) IR
1,371,600& 1,372
= 686
Al 686
Al S dztel 160,840 149,100 11,740
= 1,340
S 50,000
Al 109,500
A 2N 160,840 149,100 11,740
= 1,340
= 50,000
Al 109,500
AZOHM 2| 59,000 49,100 9,900
201 EH2HH| 6,000 6,000 0
01 AtR22iHl 6,000 6,000 0
OAMBE 222 MN(ZRSUT 9 43)
5,000, 000& 5,000
ORIMMEHIA s HAIZ 1,000,000& 1,000
202 Oddl 2,000 2,000 0
01 WY 2,000 2,000 0
O=gdagd=s 2,000,000& 2,000
206 M=l 4,000 4,000 0
01 M= bl 4,000 4,000 0
O=3QCtAHIAS = Z A 4,000,000 4,000
301 Let2a= 8,000 8,100 A 100
12 JIEtE o= 8,000 8,100 A 100
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SN At2l =X 3
Al AH D}

BE: AZS MR
ool AESIM AR GRS
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o B2
ORHSAH QAHMEISHS (5002 A4)
5,000,000 5,000
0S4 SIMeis U HEL HE
1,000,0002 1,000
OO ZEZAM A 25U 2,000,0008 2,000
307 QI2H0IH 29,000 29,000 0
04 DIZFSAIE T 29,000 29,000 0
OAMEINHZE OISHITH X2
9,000,000 9,000
OAQAMAZSAZA U ERBAKIR
20,000, 0002 20,000
402 BAT 20| 10,000 0 10,000
01 DIZXEEE 10,000 0 10,000
ORLAE U SHUE KA X
10,000,0002 10,000
SAa252 SAAY 100,000 100,000 0
= 50,000
Al 50,000
201 Yot | 35,000 40,000 A5,000
= 17,500
Al 17,500
01 A2t 30,000 40,000 A10,000
OsALsHE EEAY 15,000,0002 15,000
& 7,500
Al 7,500
OFMEE S HEX 15,000, 0002 15,000
& 7,500
Al 7,500
02 IZ2YH| 5,000 0 5,000
OFZW U X82 S KN4 5,000,008 5,000
= 2,500
Al 2,500
202 OiH| 2,000 2,000 0
= 1,000
Al 1,000
01 2UjoiH] 2,000 2,000 0
OsANel 245 YR 2,000,00024 2,000
= 1,000
Al 1,000
307 QI2H0IH 63,000 48,000 15,000
= 31,500
Al 31,500
04 DIZIS AR 63,000 48,000 15,000
OsAes N BHBER 35,000, 0002 35,000
= 17,500
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SN-EHH . SH(BH) - HPAY - BE2 O AF o8 Gl o B2
A 17,500
ONBIASA IS U 2AME A
10,000,000 10,000
= 5,000
Al 5,000
QMK X0 % AMES X
10,000,0002 10,000
= 5,000
Al 5,000
OsAes e NESEX 3,000,00024 3,000
= 1,500
Al 1,500
OSASs 2 245 43¢ 5,000,008 5,000
= 2,500
Al 2,500
AZOIFAIDONY M AL 1,000 0 1,000
= 500
Al 500
202 01t 200 0 200
= 100
Al 100
01 =2Uioib| 200 0 200
OAZOHEAL OIS 2HA 0l 200,0002 200
= 100
Al 100
206 T2 800 0 800
= 400
Al 400
01 HEH| 800 0 800
OMEUFA DO 25201 80,0002 800
=2 400
Al 400
OlRIOIAIZOIHE SR FMepele HEN 840 0 840
= 840
301 LBBAI 840 0 840
=2 840
12 JIER A3 840 0 840
OOEOIMZEGRE SRS Bold Y|
840,0002 840
= 840
HH2SYAHI(ASI =X ) 63,720 63,640 80
oz 2ot (Asl =X D) 4,200 4,200 0
R RET TSI 4,200 4,200 0
203 HRFAY| 4,200 4,200 0
04 2ASYHREAY] 4,200 4,200 0
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M HHSAAH| (Al =X D})
Sl IR Yl (ASI =TI (9l & 2
SA-EH O (BH) - HBAY - B2 0] Ak 21 gggf; HRS2
OEANSEAR2F=KIH|(302!10/8})
350,000& x12& 4,200
Jl=23dl (A2l 2 X 10H) 59,520 59,440 80
Jl23| (A3 =2 X113 59,520 59,440 80
201 B2 AH| 16,400 20,800 N4 ,400
01 AP Zelbl 16,200 20,700 4,500
OBA2H AR 22| 16,200,000 16,200
02 ss249H| 200 100 100
ORBERI(SIIRH BtE52) 200,000& 200
202 (4l 42,240 38,640 3,600
01 2| 42,240 38,640 3,600
OJ2gessioddl (22d) 42,240,000 42,240
405 KHAHFE S 880 0 880
01 XAt 2 EF SHI 880 0 880
OSAMEI DA 2 880,000& 880
MEE=(AIE2XD}) 200,000 200,000 0
LHEHH X & (A= X 1H) 200,000 200,000 0
AN EXDISHE2 200,000 200,000 0
702 JIsNMES 200,000 200,000 0
01 JI2dE&E23 200,000 200,000 0
OAMS=XDI3 200,000,000& 200,000
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